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Question 1

Correct

Mark 2.00 out of 2.00

Quiz 1: Attempt review

Thursday, 7 December 2023, 11:30 AM
Finished

Thursday, 7 December 2023, 11:58 AM
28 mins 30 secs

12.00 out of 12.00 (100%)

Determine whether the given differential equation is separable.

(xy2 + 9}*2) dy - 2xdx=0

dy
Yes; because —

— = 9(X)p(y) where g(x) =

2X
and p(y) = —.

Xx+9 y
® Yes;b Y h =2 andpiy)=—. ¥
es; because ax =g(x)p(y) where g(x) = <20 and p(y) = y2 .
© Yes:b Y. h =% andply)=—
es; because ax =g(x)p(y) where g(x) = <+ 0 and p(y)= y2 .
d. No

d
The correct answer is:  Yes; because A g(x)p(y) where g(x) =

dx
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2X d _l
<+ 9 andp(y)= 2
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Question 2

Correct

Mark 2.00 out of 2.00

Identify which are solutions of the differential equation t2y" + &' +y = 0.

& oy(t) = Int,  ya(t) = tint
b. yi(t) = sing, ya(t) = cost

¢ yi1(t) = sin(lng),  ya(t) = cos(lnt) ¥

A yi(e) = e, yyt) = ™!

The correct answeris: ¥ (¢) = sin(Ing), ya2(¢) = cos(In¢)

Question 3

Correct

Mark 2.00 out of 2.00

Solve the initial value problemy’ = 2y +3, y(0) = 2.

oy =L+ § e
b. o312t
y(£) >t3e€
c y(‘t)——%+%e2z
d p(t) = 1+e?!
- = _3 41 52
The correct answer |s.y(£) E + T €
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=yr-2)

dt

Which of the direction field plots below represents that of the differential equation
d

Mark 2.00 out of 2.00

Question 4
Correct
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y(t)

—

The correct answer is:

o e e e P e e e e e e e e e T e e e,
R 4—“4—#.;—‘ e
i ::': -’ / / - f -’ -~

N

Mo

Question &

Correct

Mark 2.00 out of 2.00

Given the partial differential equation 42, = ;. Which of the
following 1s a solution to 1t?

&, ) = 7e4e sinax — Se~4e cosax, all o ¥
O y(x,t) = 5sindx coshf — 2 cos4x sinht

S uCr,t) = e % sinax + 374 cosax, @ > 1

d.

t(x,t) = 2cost sinex —3sint cosax, @ >0

. - 1 . - 2
The correct answeris: i(x,¢) = 7e~4%'t sinax — 5e~4% cosax, all @
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Question &
Correct

Mark 2.00 out of 2.00

Show for which values of r is the function e™ a solution of " + 5y" + 4y = 0.

a. .i"1=4, r2=5
> =4, =1
c ri=-4 rp=-1 v

d- There are no such values.

The correct answeris: ry = —4, ry = —1
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